[image: image1.jpg]£

MASENO UNIVERSITY

UNIVERSITY EXAMINATIONS 2011/2012

SECOND YEAR FIRST SEMESTER EXAMINATIONS FOR THE
DEGREE OF BACHELOR OF BUSINESS ADMINISTRATION
WITH INFORMATION TECHNOLOGY
(HOMA BAY - CAMPUS)

ABA 202: INTRODUCTION TO FINANCE

Date 11" August, 2012 Time: 9.00 — 11.00am

INSTRUCTIONS:

¢ Answer THREE QUESTIONS.
¢ QUESTION ONE is compulsory and any other TWO questions
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a) Identify six users of financial reports and their information requirements.
(6marks)

b) Accounting ratios are heavily relied upon in evaluation of financial
performance of an organization. Discuss the uses and weaknesses of ratio
analysis. ( 8 marks)

¢) Distinguish between financial plan and financial forecast (2 marks)

d) Nguvu ltd is considering an investment in to expansion of oil processing
plant. The following are projected cash flows:

Year Amount - Kshs
0 (300,000)
1 100,000
2 90,000
3 110,000
4 40,000

The cost of capital is 10%.
Required:

1. Compute the Internal Rate of Return for Nguvu Itd. ( 10 marks)
7. Advice Nguvu Ltd on whether this expansion can be accepted. ( 4 marks)

Question Two:
a) The CVP (cost volume profit) analysis also referred to Break Even

Point shows the relationship between costs and revenues. This chart is
prepared based on specific assumptions. Identify and explain six of
these assumptions. ( 6 marks)

b) Taratibu ltd makes and sales juices whereby the'selling price per one
liter container is Kshs 1,000.00. The marginal cost is Kshs 600.00
while fixed costs are Kshs 6,000,000.00 per annum.

Required:
i) Number of units to be sold to enable Taratibu breakeven.( 2 marks)
ii)  The sales value at breakeven point ( 2 marks)

iii) Contribution/sales ratio ( 2 marks)
iv)  Compute the number of units to be sold to achieve a profit of Kshs
2,000,000.00 per annum assuming the tax bracket of 40%. (4 marks)
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[image: image3.jpg]v)  Due to an increase in overall costs, the marginal cost is set to rise to
Kshs 650.00 per container and the annual fixed costs to Kshs
7,000,000.00. If the selling price cannot be increased, determine the
number of units required to be sold to maintain a profit of Kshs

2,000,000.00 per annum. ( 4 marks)
Question Three:
a) Identify two theories advanced to show the relationship between cost of
capital and capital structure. (2 marks)
b) Jambo Itd has the following mix of capital during the year ended 3 1™
December 2009:
Annual % cost
Proportion of Annual % cost | of equity
debt finance of debt finance | finance
20% 12% 16%
30% 12% 16%
50% 12% 16%
75% 12% 16%
80% - 14% 25%
85% 16% 30%
Required:
i) Compute the overall cost of capital per annum for each of the above
capital mix. ( 8 marks)
ii) Recommend the best mix of capital ( 2 marks)
¢) Identify and explain four ways in which an organization can reorganize
its capital structure. ( 8 marks)
Question Four:
a) What are the objectives of budgeting (4 marks)
b) Define Zero Based Budget and identify the steps involved in
preparation of zero based budgets. ( 4 marks)

¢) Matata ltd has provided to you the following income and expenditure
forecasts for the year 2013:
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Month | sales purchases | Wages expenses expenses | expenses
March | 120,000 72,000 | 18,000 8,000 4,000 8,000
April 124,000 76,000 | 16,000 6,000 3,000 10,000
May 128,000 66,000 | 20,000 9,000 5,000 9,000
June 116,000 70,000 | 17,000 7,000 4,000 7,000
July 112,000 78,000 | 19,000 8,000 2,000 9,000
August | 120,000 68,000 | 16,000 6,000 3,000 9,000

You are also provided with the following information:

i) Plant costing Kshs 32,000.00 is due for delivery in July payable 10% on
delivery and the balance after three months.

ii) Corporation tax of Kshs 16,000.00 is payable in March and June.

iii) Period of credit allowed by suppliers is 2 months and to customers is 1
month.

iv) Delay of half a month in payment of manufacturing expenses
v) Delay in payment of other expenses by one month.
Required:

Prepare cash budget for three months starting 1% May 2013 when the cash balance
was Kshs 16,000.00. (12 marks).
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Boston group of companies has presented to you the following comparative
balance sheets and income statement — ( Kshs)

31-Dec

2009 2010
Assets
Cash 1,000 1,200
Bank 6,000 7,500
Accounts receivable 12,600 14,800
Inventory 18,400 20,500
Prepayments 800 850
Land and buildings 20,000 24,000
Plant and machinery 30,000 32,000
Total 88,800 100,850
Liabilities and shareholders equity
Bills payable 4,000 7,850
Accounts payable 6,400 6,000
Other current liabilities 2,000 2,200
Debentures ( 10%) 20,000 18,000
Preference shares ( 12%) 10,000 10,000
Ordinary shares - 10/= each 40,000 50,000
Retained earnings 6,400 6,800
Total 88,800 100,850

5





[image: image6.jpg]The income statement for the year ended 31 December 2010 is as below:

Sales revenue 60,000.00
Less: Expenses:

Cost of goods sold 28,000.00

Selling 8,000.00
Administrative 6,000.00

Interest 2,000.00

Income tax 6,400.00

Total expenses 50,400.00 | 50,400.00
Net income 9,600.00

Less: Dividend:

Preferred 1,200.00
Ordinary 8,000.00 9,200.00
Increase in retained earnings -
2010 400.00
Retained earnings — 2009 6,400.00
6,800.00
Required:

Compute the following ratios:
1. Rate of retﬁm OFL ASSBLS v vnie wommaie s sns 158 61655 &9 378 985 e s v
2. Profit margin before interest and taxes............ccoooeeeeen
3. Cost of goods sold to sales percentage............oovevveereess

4. Selling expenses to sales PErcentage. .........covveeeeenees

(2 Marks)
(2 Marks)
(2 Marks)
(2 Marks)
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[image: image7.jpg]5. Operating eXpenses ratio..........c.ocovevrveneiiniiniini. (2 Marks)
6. Total assets tUIMOVET. .. ...ovivieirireniiiiie e (2 Marks)
7. Accounts receivable tUrNOVer.........ooovvviieiriineiiinnnnes (2 Marks)
8. INVENtory tUIMOVET . ....uvvrrrnrirrararrnensnreresisnracaencnes (2 Marks)
9. CUITENE TALIO. . eveveteneeen et (2 Marks)
10.Quick acid test ratio.......ooverirrarnrriernreariiiiiinenen (2 Marks)

END
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